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BSc Nursing
An electric dipole is placed in non uniform electric field, then it experiences.
y v ga BT awme fAga a5 § 7@ 797 2, a7 39 1 Aea 2ar g |
) Force and torque
EEECIE Cu
i Only force
T A
Only torque
Neither force nor torque
D)

T T TAT T T AT

A charge Qis enclosed in a sphere of radius R. If radius of sphere doubles, what effect on
electric flux.

TF AT Q UF AT R F ATSEHF T # aivag g Brear R g1 S, a7 arg] Aga v

2) ~
Becomes half

A)
ATYT BT SATUATT
Remains same

B)

THTT T2
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Doubles
C)
AT BT STTUAT
Become four times
D)

AT IAT 21 ST

Two similar and equal charges are placed 3 m apart experiences a repulsive force of 1.6 N,
the value of each charge will be?
AT THIHTT TAT 717 AT A7 3 Hi2w #1870 7 7689 97 39F F57 1.6 727 FTATAHIT T F14

3 FTAT £ TedF ATA9T FT /1T 297 |

n 2 C

B) 4L,LC
o 40 n C

80uC

D

The dipole moment of H-Cl molecule is 3.4 X103° Cm, the distance between ions will be
H-Cl oy %7 34 arqoi3.4 X10°3° Cm g 3% AT F 957 91 21T |
4)

n Zero
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g5 2 CM

o 2 mm

n 2.12X 10 ' m

Which of the following is the unit of electric potential?
ECGREEEEIRIEEES

5)

Newton metre/Coulomb
e HIed/TA™

A)

Volt
B) -

Both
C) - ™

SEEAS AL

None of the above
D)

- R -\,E‘ [
2AH H L dgl

The electric potential at the surface of hollow spherical conductor of radius 2 mis 100 V.
what will be the potential at a distance of 1 m from the centre?

2 HTz7 B3=a1 F UF AAT9q @rET A E A19F 0 qqg 77 100 77z f@ea Fag g 35 7 1 #e7
. T 7 Ay A Zrm |
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A) 50 VOlt

5 100 Volt

© 150 Volt
o) 200 Volt

The ratio of radii of two spherical conductors is 1:2; the ratio of capacitances will be

)’:T‘fl'1lﬁ‘:l‘ HTAHRT T 5141 7 darT 1:2 2,37 30T AT aTer 7 A9719 2197 |
. 1 1

1:1

A)

B 1:2

@ 2:1
o 4:1
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What is the equivalent capacitance between A and B in the following circuit if C=4 uF?

= ® | 73 9T § AT B T 95F 77 4T ar g A% C=4uF 2 |

| i ok

. | ~ ] | ) |
a [ ,

L Z) 211 5 ‘:{) el
{ ' J

8)

A) 2|J.F
o 4 puF

0,22 uF

16
D) ? |J.F

The product of resistivity and conductivity of a conductor depends on
[T =TT T T 1T T9T ATAFAT 7 [OAFA [AHT Fq7 2 |

9)

Area of cross section
TS AR T7

A)

Temperature
B)
GIRENCES
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Length

C) o
AT T
None

D) ~ o~ O
FHT T7 A

10)

If same potential difference is applied across two resistances, more heat will be produced in

=7 fo=r a5t & 597 F = 99 Fraaiae gt BT stmar £ atas 307 3999 2607 |

, Higher resistance
g Tiaere T2

Lower resistance

B) -
BERISEICRE
Same in both
TET H THT
Can’t say
D)

TATHT TEFT L]
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11)

The energy of parallel plate capacitor of plate area A, distance between the plates d and

uniform electric field E is

T AT TS FATA il W21 % #7 Z97 d, W21 1 %A A TAT 2T F 419 § UF T979 59T
AT E T T Araer FATA A e g |

¢, E*
2A4d

A)

g, E*Ad

C) E gDElAd

Y 2A4d

12)

The resistance of a wire is 4Q) .When it stretches to double, new resistance will be
UF AT T A4 4Q T THHT FIAH7 THHT AFATE T 2T AT F7 (24T SAT 2 29 99 q17 F7 I
2 |

n 40

g & ()
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016 Q

o) 24(0)

13)
Temperature coefficient of resistance of wire of potentiometer should be

A High 3g
5 LOw H

o Negligible =177

» Infinite T
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14)

In the following figure, a meter bridge is in balanced condition. What is the value of unknown
resistance R.

27 gu = § dies 7 Jqfera ga=47 7 2, 3J1d gfa7r4 R F7 7719 207 |

/

~ 220 Q
5 110 ()

o 55Q

n 13.750)

Kirchhoff’s first and second law are based on
E z E

= 1% & 999 997 ddr]q qu-l :"ﬂTa|IE~~E| %l

15)

Conservation of current and energy
T TIT T F2 07 H29T o7

A)
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Conservation of charge and energy
AT TAT T FT0T H2HT T7

B)

Conservation of mass and charge
ZAHTT TAT ATHIT HLZAT HFHT T2

C)

None of the above
D) T T =

T H | AT Al

16)

In a potentiometer circuit, the balancing length of resistance wire for cell of electromotive
force E and negligible internal resistance is L. If one more cell of same electromotive force
and negligible internal resistance is joined in parallel to the cell of electromotive force E,
new balancing length will be.

fEraaTt F AT # B are® a9 E T4T 0T A Tae T Hw A TaeraE a1 A aeErs L
T HAT 21aT & AT 94 ST e ave® a9 E a9y a0 Aiqid Gfqerd g vhaw 99+
THTT FH § ST AT 2 a1 7 HqAT AFATE FT1 71T 207 |

A) 2L

5 L/2

o L

o L/4
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17)

If a proton of kinetic energy of 100 eV enters in a magnetic field of 10 Tesla perpendicular
to it, approximate cyclotron frequency of proton in radian/sec. will be

100 eV TSt FSAT T TF U121 107 ZHAT T 17 A | 3% A9 T4 F7aT g TIZ 6l
ATZFATZIT AT radian/sec. § #THT 2RI

Y 2.80X10°
» 1.6X10°

9 5.6X10°
» 9.6X10°

18)
Resistance of ideal ammeter and ideal voltmeter are
ATZI ATFEH T TAT AT AHIET % TArd 20 AT

Zero and infinite respectively

A) .

FHIT: 07 AT A

Infinite and zero respectively
B) .

AHA: ATd AT [F

Both are zero
C)

T 9
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Both are infinite
AT A9

D)

19)
The magnetic field due to an infinitely long current carrying straight conductor at a
distance r is B. What will be the magnetic field at a distance r/2 if current remains constant.
UF T qAT HG ATTATET AT 17 F ¢ T30 07 IATH o019 405 B Af2 917 § TaTiaa 9177 F1 419
9T 7 a7 r/2 T 77 399 A A7 T HE 207 |

n 2B

5 B/2

o B
" B/A

20)
Magnetic material having small and negative magnetic susceptibility are called

Ferromagnetic material

no e
AT TaT4T & o

Paramagnetic material.
FLAFAN T T2TAT & (7

B)
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Diamagnetic material

C)

All of the above

Y I e

21)

ST e TaTa & o1

The vertical component of the earth’s magnetic field is zero

TZAT % TFGT AT T HEAT47 AeH A 2al 2|

At magnetic poles

A) .
T 9T T7
At geographic poles
B) - -
AR 9 77
., At magnetic meridian
THEHT AL 7
| None of the above
D

= Y T s Aal
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Lenz’s law is for
=8 [ -, )
AST T H9H 24T g

22)
y Magnitude of induced current
I 41T &7 T
) Magnitude of induced electro motive force
I =T AT a1 &1 T
Direction of induced current
) R e e e
ATXT dTIT =hl T=211
Magnitude and direction of induce current
D) =~ 3 =~ =
T GT9T 7 THTOT A o =E
23)

If the current changes with a uniform speed of 1A in 0.1s in a coil of self inductance of 2X1073 H.
The induced electromotive force will be
7% 2X103 H =39797 017 ATAT T0SAT | 9797 0.1s § UF F919 &7 7 1A % q241 2 a1 90 f&¥2a

N2V
, 0.2V
o 0.02V
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oy Zero

24)

If an A.C. circuit containing pure inductor or capacitor, power factor will be

TEATAAT G127 & TTT | 9[F T7Heq AT ATAT FT 9I1F 077 FT 7T 2197 2|

n 1
5 O

03] TT

p) More than 1

Capacitor in a circuit

T

25)
Allows alternating current
A) ~ ~ =~
AT ATT T [ 2qT 2
Stops alternating current
B)

TATAAT AT Al THaT

. Allows Direct current
) = s, 2
2 47T il oA 2dT &
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» Allows Direct current & Stops alternating current
' g NSRS R T U e TEdT AT T T ={

26)
If phase of current is ahead of phase of voltage by n/6, A.C. circuit contains
U TEATAAT AT % TR0 F 9T AT FAT Ae2ar 1 FAT F 1/6F 0 AR E TETT F q997 2 |

» RandC
& Rand L
o LandC
o Only L
27)

Nature of image formed by objective lens of compound microscope is

T LRl F ATHg9F 99 F F497 Irat=ea i THa 20

, Virtual and enlarged
ATATHT A7 =T

Virtual and diminished

B) - -
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o Real and point image
- = -
CIESIEETC I EN E R

Real and enlarged
ATEA T AT =T

D)

28)
A light ray incident normal to a glass mirror, angle of reflection will be

v gQP
B) OO‘

o 180°
o 450

Power of Plano convex lens is
"8 [y c [ - N é_
AT 3T A4 =l 970 g4l 3 |

29)

Negative
FEOTTcH

A)
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Positive
B)
?‘ l.': L=
Zero
C)

R

» lmaginary
[
CAERIEE?

30)

Name the phenomenon which shows transverse nature of electromagnetic waves
FTAHT FeAT ERATFa 1 T T AT THA FT ZAT97 2 |

Reflection
Y TeTEae
. Refraction
o Polarisation

?:-.;
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Interference

2IRETR]

31)
The ratio of slits in Young’s double slit experiment are in the ratio of 4:9, The ratio of intensity of
maxima to minima is

77 Tz AT 7 7tz e 1 A=z F:1 9 4:9 2 a1 stye vaw [t #71 g Zrm

» 169 : 25

® 81:16
o 25 1

0196 : 25

Need for modulation is
TIEAT %l ATFITFHAT % TA F170 2|

32)

Height of antenna
T2HT T AT

A)

Effective power radiated by antenna

Y UEAT T TATET ot At
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Mixing up of signal from different transmitters

C) - =
EIEEE:ERIEIRERR
All of the above
EREAR TR

33)

NPN transistor is working as an amplifier due to
T NPN ZTor=s 71 Ta4F i 998 SUFART § 7137 A7 727 2 aT

Holes move from emitter to base

A)

™,
1

2T IOST F AT A 17 FAT 2

Holes move from base to emitter

ZTE ATATT | IS 4l AT 949 g

B)

Electrons move from emitter to base
=, =, [~ =, 2 =~ &
TAFEIT oS o AT il AT AT 3

C)

Electrons move from base to collector
D) - =)
4l

TAFEIT AT H HATZF T A7 A &
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34)

Name the procedure which is performed in laboratory in which a single sperm is directly
injected into the ovum to form an embryo

TARTITAT § T AT HT 7Z T (=A12 2 s wa spwmoy F1 #ver 27 9ot § g=397 F7a7137 J4a7 2 |

Artificial Insemination
A)

FIH TATATH
Artificial Insemination
B)
T AT
Intra cytoplasmic sperm injection
c) - .
TVaT AT TCATEHF TOH T 9T
Gamete Intra fallopian transfer
D) =) =B =, -
qliﬁb q;;l :|'_.{; | i":lil W
35)

How many microspore tetrads are developed from four cells of sporogeneous tissue
FTT IS 3= 1 =17 9Tt 7 BT Ares e 2272 794 2 |

ZF

5 16 microspore tetrads

=, =, =,
16 ATEHEIIT 22718

4 microspore tetrads

B)

==F [-17 ] :-,4 =
4 HZAIIT 2203
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5 8 microspore tetrads

= AL LKA
8 HTIZHITIIT ZZls

10 microspore tetrads
D)

10 ATZFRTFITE Z20E

A well developed monosporic embryo sac is

o [ - ™ o = =, =
0= 0T TAR 1 AT OTR9r gt g |
36)

8 celled 7 nucleate

8 FIforfra 7 AT

A)

6 celled 7 nucleate

6 FIToT=hir 7 FTfsThrT

B)

7 celled 8 nucleate

7 FISTRTT 8 ATTHT

C)

7 celled 6 nucleate

V7 Ffordrr 6 ATtaET

Page220f60



BSc Nursing - 13 JAN 2021 - Batch 01 - 1030 to 1230

37)

Which one of the following is not a feature of anemophilous flower

FRerferiare ® & =T @0 AT o7 7 725 2 |

Pollen grains are light and non sticky

A) =, - 5 =, s B
TYRTHRI Zoa 219 2, T =a=T 921 219 2
" Stigma are large and feathery
ATAHT F2 T IL I 2T 2
Nectar filled flowers are found
c)
T AT I 219 3
Pollen grains are produced in large number
D) , - .
TR 0T ATE g1 | 970 S0 2
The energy consuming steps in glycolysis is
TATSHIATSTEE H 5T @I F797 HITAT 2197 2 |
38)

Phosphoenol pyruvic acid—> pyruvicacid

|_{-j|.,_1.l_{-?| i—;.\.rjq-l.\ff_ll T ':éhra = 'ﬂj-T\l?__' —= "—I'I_:{T%E ”)iﬁl z

A)
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Fructose 6 phosphate - Fructosel- 6 Biphosphate

B)

- - = -, O g =
A 6 HIEhe — e 1 -6 FTehirhe

glucose 6 phosphate - Fructose 6 phosphate

C
) T 6 TIFHe — TFeT 6-FlrTe

1,3 —Diphospho Glyceric Acid - 3 Phospho Glyceric Acid

D [ - - =, [ = - T, .
) 1-3 STEFRIEHRT TATEHAF UTHE — 3 IR TATEH 7 F TTHS

39)

How many CO. molecules are formed from a single turn of Kreb cycle?

FF AT & 0% 7% | (4ad CO, F A 74 2 |
A b

B 4

o 1

D) 2

Choose the cycle which is universal to all plants.

AE T AT AT TAT 04T H AT A7 2
40)
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n CAM cycle

B C4 cycle

o C3cycle
p) Both Cs and CAM cycle

Lock and key hypothesis was proposed by

T T TS ATATIOT T =17

-,

»  Koshland FIITATE

s Emil Fischer e TR

o Duclaux =[Fai=

Willy Kuhne 3T F24

D)
Name the family to which "Gossypium” belongs
E N 3 = 2
MTHETTTH FTTH T T T35 2 |
42)

Page250f60



BSc Nursing - 13 JAN 2021 - Batch 01 - 1030 to 1230

o Solanaceae  ATHAHAT
sy Poaceac qTIHT
o Malvaceac  ATAFHT

N

[

» Euphorbiaceac T =7

43)

ol

Match the following and choose the correct option

a. Residual volume(RV)
Inspiratory capacity(EC)

oo o

. Total lung capacity

[ N

(i) ERV +RV
(i) 1100-1200 ml

Fuctional residual capacity (iii) VC +RV

(iv) 3500 ml

|

[t it -
METATT il THATA T AT e

FATIN |TAT (A7)

a.
b. =T T AHAT (THT)

c. Trarsfier aafore sraan

d. TEET A FA FHAT

n a (iv), b (ii), c (i) ,d (iii)

s a (i), b (iv), c (i) ,d (i)

o a (i), b (iv), c (i),d (iii)

e J4 |

(i) TATTAT + FreA
(i) 1100-1200 Freft
(iii) =TT + = =T,
(iv) 3500 freft
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° a (ii), b (iii), ¢ (iv),d (i)

44)
The enzyme which causes removal of phosphate group from 5% end of circular DNA so that the
DNA remain in linear form is

FAT T U T F A Y T TR T FT Z2 F 00 FAAT USTEH I97ETAT 2 e DNA

THETT FATAT H TF T -

DNA ligase
A)
FTTT T AT
Restriction Endoneuclease
B)
TTAaE Teel =TT
Alkaline Phosphatase
C)

. Yy~ -
TR ATE A Tl oo

DNA polymerase

I o
D FTUF T I

45)

The cutting of DNA by restriction endonucleases results in the fragments of DNA. These fragments
can be separated by
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Gel electrophoresis
A) -

S T T 9T

Polymerase chain reaction

R =, = _
TITAHLS A1 ﬁi%ﬁll

B)

Electroporation
©)

- -

TAFZ T T7 9T

Transformation
ETARIHITT

All of the following are properties of vector DNA except

— s I S
e ferad | 7 A%< 21 TF T &7 [ 781 2 -

46)

Ability to attach

A) o = = -
T E_P[ T T H RER r:l AHAT

Presence of ori(origin of replication)
B)

o r .~ . — ~
AT (TTTHITAA =0T IT1) =l TTAET]

Large size
C)

d=T ATRT?
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Act of selector marker
D)

-
L0 AT 973

The ‘kupffer” cells are found in

o R s = [ oo
FHRL LT =60 AT | 9747 197 2

47)

» Brain qieaeF
B) Liver T

c Lungs TS

® Thymus  9TaH

Choose the option which is not correct

fa
AT FIT A |
48)

» AV node is called pacemaker of heart
)

AV FTE T Z=T FT TOHHT F29 2
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s The human heart beat is myogenic
)

- =~ -~ 3
qT9H Z3 #f g2 qArs % 2rav 2

- The tricuspid valve is present between right auricle and right
)

[ — e - - ’_:_x e - - =
T ETE ATed I AT s A7 =70 9aT F HeT 27 2 |

Lymph is rich in WBC
5 - - * =, =
) TATERT | AT 97T =h FHIOFRT0 2747 2 |

The layers of Bowman’s capsule is formed of

= = . — - [
TTHA FA T T4 500 941 2141 2
49)

Cuboidal epithelium

ol

FIATESA STHAT

A)

Squamous epithelium
B)

N
TATHT STl (TTS12TE ITHAT)

Columner epithelium
C)

’J'r:'l “e . SHEl (ﬁ-i'ﬂ' SR E IS |)

Ciliated epithelium

D)

- -
BIEER SRR E
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50)

A)

B)

C)

D)

51)

The Eustachian tube connects

~ i~ [ = S
TR =T (FHEFT TAT ) AT 2

External ear to middle ear
FTE] F9 T TETFH0

Middle ear to nasopharynx

TETHIT T AR 3 (AT )

Middle ear to internal ear
HETFIT T A0

Internal ear to nasopharynx
TTFT T AATHRFT (AT

Which of the following is not correct with respect to Blind spot.

-

* ) C =
sAlgs T2 F Arad HITAd F99 2 -

A)

B)

Situated just below the yellow spot

AT At (e 7o g ) F e = Fam gar g

Photoreceptor cells are absent

—~—r T — LA (ol A
e A= (THTT 1:!'!‘—&_ ) T FAIFIT 21471 2
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Point of emergence of optic nerve
' sitferr

o A (FTF AR ) T SIS A AT 2

Portion of retina where only cones are densely packed

) AT ZTY TEA ) T AF TATT TR AATIE FI (90F )TT0 ST F

Select the odd one (on the basis of ploidy level)

t;rrl-‘]q\-:'__r‘] r:]-:|'l:r| (Jim{ MR )%F I|"~q‘1:||r-£|: r'gl[blH 'ﬁ:r"‘il{'

52)
Primary spermatocyte
A | — T
) ITITHF TTHEHTZ2 (90T mi'é]:hu.{ )
Oogonia

B AT - (A7 AT )

Spermatogonia
C)

TIHTERTIAAT (YA )

Secondary spermatocyte
oAt TTHETEE (ST T TT)

D)
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The capacitation of sperm occurs in
HEQRII T T #(—-'IJ ama ?:Hcl' %’ |

53)

Epididymus
AL

T

=

Female Reproductive tract

B)
=T 97 79
Vas deference
C)
Vas efferentia
T AT
54)

The hormone responsible for ejecting milk from mammary gland is
T T T FoT AT o F oo e g 2

Prolectrin

A = : ﬁ
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Oxytocin
B) L [
ATFHTETTHA
o Estrogen
R ;‘.\ ST
Progetron
D) -, = =,
AT T
55)

Neutrophills and macrophages provide barrier to diseases. Name the kind of barrier

IETTRA (SETHIAES) TF AT (FAFT) FTHET F 91 B T3 F7 779 9279 597 2 |

Physical barrier

TV 714

Physiological barrier

Y Frr T

Cellular barrier

- N
=il Qléil"q LA
Cytokine barrier

D)

= =
ATEZTHTEA 140
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Amoebiasis is caused by

S [ =
AHTTAITIEH =il 707 3 —

56)

Virus
CIPEE:

A)

Bacteria
Fungi
AT

C)

Protist
TTees

57)

Which of the following is the most common viral disease among poultry

forer & =1 e faromy Stfee T Jredt (FEf o ) § it g g ?

Pullorum

Ranikhet

B)
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Fowl! pox
c)

T3 T4

Mycoplasmosis
D)

- =,
Al 114

Choose the incorrect match

=, .
AT TFe il FH0 -

58)

Auxin—> used to induce parthenocarpy

A = — T
" R - TR # 5 S e

ABA —prevents abscission

B)
T AT T - T W AT
Gibberellin—>Breaking seed dormancy
C) [ . ~. =~
TSI - TS =1 TATEET i ToH FoA1
Cytokinins—>Delay senescence
D) ATZATERTS A - STOTAT T AT
59)

Gene which reflects its effect on more than one character is known as
SO ST U 7 ATEE Ao 97 qoAT g AT g, #EamT E -
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Lethal gene

A)

[ -
HIEE R

" Pleiotropic gene

M T T e .
EIEILIREASIL

Poly gens

C)

A o S
A TSI [+

Multiple alleles
°) g e

Down’s syndrome is due to trisomy of

4 = =, [ =, -, -
=TT W & T & BReEaT % #7190 ZET 2

60)

20" Chromosome
20 =T o=
21t Chromosome

) .
7 217t

A)

22" Chromosome

C) -
22 AT AT
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16" Chromosome

" 16 =t T

The water potential of a solution is

=t e =1 5t B 2T 2-

61)

Always positive
A

ZHIT AATHT

Always negative
B)

ZHIT HTHT

Always zero
o .
ZHITT 9T

Positive and more than one
JHTHF U TF T qTIF

D)

62)

The pathway in which flow of water is through non-living parts of cell is

Symplast pathway
)
HHTAT . T

A
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Membranous pathway
TEAT T

B)

Vacuolar pathway

o
EER RN

Apoplast pathway

D) .
T TR T

Right lung is made up of

[ L - é-
IT2AT FRST I471 24T 2 -

Two lobes
A o - -
T ATST  (TTTAAT) 1

Three lobes
B)

[ = N
AT AT (TTTAIT) =

Four lobes
C)

-, i %
1L ATe (ATAAT) =1

Five lobes
D)

T AT (TTieraT) =7
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The number of true ribs are

— [ = [ + - . =
Al-dl==n YH T4 =l HJEJJHEJ._-”%'l
64) - :
A) 6 Pairs

B) / Pairs

© 9 Pairs

D) 12 Pairs

Chlorosis is caused by deficiency of

- s P, (amt [y ™~ = - =
1297 H FATLIHA =901 FHT 3 HL07 2191 3

65)

Nitrogen
A) -
SIFHAED]

Fa

Phosphorous

-

RAEEARA: ]

B)

Nickel
ICEXI
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Calcium
D) -

1| T Il

Oxidation of ammonia into nitrate is called
THTTHAT T AT22 | AFHATHIT FZeATaT 2 |

66)

Deamination

A) -
EECICEG]

Nitrification
B)

o~ -
S IFEEETIG]

Ammonification
0)

TUTHTTRFITT

Denitrification
D)

. N
SIEIEA AR

The example of renewable resources of energy are

[ [ + = =
FATHLIT ZSA 1 TATIH F T2270 2
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Solar energy, fossil fuel

A
AT ZST , SEATYH T4
Hydroelectric power, wind energy
B) [ o L
4 Il 'ﬂl"i I |
Tidal energy, Natural gas
C) [ T (- =
ST ST, TR+ A
Coal, solar energy
D)

- - -
EAPE |, =EI a3l

What type of hybridization does carbon have in graphite?

-, - T * =
65y T T2 H T T FFH0T FAT Z 7

A) SP
2
B) 3P

o sp’
o) dsp?

69)
The number of tetrahedral voids in a hexagonal primitive unit cells are

TR AT - ForErT et i weT 260
TRTO AT UFF FSFT H TITFAGT T3 00 J=AT ZEIT |
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A 8
B) 6

o 2
p) 12

70)
Which of the following is not an example of 13-15 compounds?

9% & & FTTAT 3520 7HE 13-15 AR 2 7
» AlP
) GaAs

o CdSe
D) InSb

71)

- Which of the following is not an example of positive deviation?

T8 & & FTAT ST gATeRS AT AL 2

methanol+ water
A L - -
HATATA+TTH]

acetone + ethanol

B) H_ .
THTEE +TA A
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acetone + carbon disulphide
c)

[l C C
R I +Tdd ST Aol

acetone + chloroform

D) [l L I
s I AL AT

Which of the following is a colligative property?

R
T =
A o

e = 2 i T
BEE EEIGENELIGER

72)

Osmotic Pressure
A)

T =74

Depression in Freezing Point
B) — .
ERIEICEL L

Elevation in Boiling point
03] ) -
FITH H 3994

All of the Above
D)

UV T
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73)

Which of the following property is not of an ideal solution?

T - L [
™S | | T =9 Haad &7 0T 921 2 ?

A) ﬂ-Hm ixture=0

It obey Raoult’s law
B)

C) ﬂvmixture=0
None of the above

D) . :
ST | 7 &% 720

74)

How many coulombs are required for the oxidation of one mole of H,0 to O,?

ST TF F1A Tl AFA T (O2) F ATFHHAI FAA & (A7 (AT Fore el F ATF9THdT 2907 2

» 1.93x10°C

8 9.65X10% C

9 6.023X10%C
0 4.85X10% C
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When the |lead storage battery is charging

~ ; - Co= =
gy T FTAT HHTF FA =TS ZTA1 z a1

SO, liberated

A)
o

SO, 37UH AT 2

PbSO, decomposes
B)

PbSO, T ZMETE

Lead forms
0)

H.SO4 decomposes

D)

H,S0, 72 AT 2

76)

-

Rate constant for a reaction is 7.239x10“sec?,the order of reaction will be:

g3 7 72 #1522 7.239 x 10 4 sec -1 2 7= ATy £ =i (T -

A 4
B) 3
)
o) 1
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77)

Time for first order reaction to complete 90% reaction will be-

o T O afSfem ¥ 90% 7o 2 F o h 2

Which one is not a negative charged colloidal sol?

9 & | 9T R0 AANT FIAATSST A T2l 2 2
78)

Metal sulphide
A)
T AoHIZS

Starch
B)

r

==

Gelatin

ﬁ_,rh( T
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Methylene blue
D)

i
Al Al

Method of purifying blood in human body is:

HTH T ¥=F [T F70T & =T 2 -
0

Electro dialysis

A)
.

ECGIERIF

Electrophoresis

B)
fa

ERGERKEIED

Dialysis

©)
A ”"f‘

Coagulation
D)

= e

Gold number related with:

T + N oY =
sy AT e HEAT z -

Purple of cassius
A

TUT ATF FraaT T
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Electrophoresis

B)ﬁ

ERGEREETE

Protection of Colloid
0)

T ATz |

Amount of pure gold
D)

9[F TAIT ol H/IAT T

Which is copper matte?

H & & FI7 7 FAAT 2 ?
81)

A) CUFESz
B) CUzo
o Cu2S+FeS

None of the above
D) = e [
SILIR H AL 98

Bauxite is the ore of —

- [t - =
ATFATZE TRART AT+ 2 -
82)
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A Cu
B ZnNn
c) Ba

D) Al

83)

Which process is used for the manufacturing of ammonia gas?

T & I T =T T /AT T F497% J041 2 ?

Haber’s Process
A)

Zav =T

Contact Process
B)

qe et

Ostwald Process
0)

'ﬂl"t"?ﬂ [rZ af‘:j

Ammonolysis

D) . - ~
Aerd il A
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Choose the correct decreasing order of basicity-

) [ - = =
AT AT =1 ‘-‘lﬁ_l gedl E-C‘HT o Sl ?:'?
84)

» NHsz >PH3 > AsHs > SbH3

» SbH3 > PHs >NHs>AsH:

© NHa >PHs >SbHa >AsHj
py PH3 >NH3 >AsHs > SbHa

Formula of chloropicrin is

. FARIUfh BT T B

» C(NO2)Cls

» CCI(NO3)3
o C(NO3),Cl

D) None of above

The laughing gas is-

ge) 1T A 7
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Nitrogen trioxide

-

Coo
qATEZISI9 215 ATFATES

Nitrogen Pentaoxide
B)

ATZZTSTT TaT ATFATE

gl

Nifrous oxide

C)

ATZZH AFATSS

Nitrogen oxide

D)

-

AT ZlSA AF12S

Number of unpaired electrons in Fe?*is-

Fe2+_i srfime TommTe i #e & -
87)
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88)

Which element shows +7 (highest) oxidation state?

T o - . —~ = [ [ -3
SHAH ATFAH0T AT (+7 ) T G100 TR il 140 2 —

A Mn
By Cr

© Fe

py CO

The general oxidation state of Lanthanide series is —

89)

A) +1
B) +2

c) +3

D) +4

90)

Which element is the central atom of chlorophyll complex?

FATLIA | element ZMaT 2 -
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lron
A)

A
ey

Cobalt

B)

J )

-

Magnesium
C)

Nickle
D)

Oxidation number of Fe in K3[Fe(C,04)s] is-

o1, Ka[F€(C204)s] & Fe T AT ST 2 -

NN

B 2

o 3
D) 4

Which of the following compound has zero dipole moment-

% | F FAH T FT (320 ST T 2 2
92)
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A CHCIa
B) CHBr
© CHls
p) CHa

Which chemical species is formed in Sy? —

- = [ [ — . o =
SN2 H FIAAT AT E T T941 37
93)

Transition state
A)

TR HOT ATAT

Carbanion
B)

Carbocation
C)

FTA 2T
Free radical

D)

T T

What happens in Finklestein Reaction

gy [FOFTEETT ATTFAT H F27 217 27
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Hydrogenation
A
N [
EEIERIERR!
Halogenation
B)
. (=
AT AT
Halogen exchange
c)
= .
ZATSH (A
Dehydrohalogenation
D)
[ — = ™ =, | —
ECEFICEIEIRERS
95)

In Victor Meyer method which colour indicates presence of primary alcohol?

=y 77 =T § T 97 GTAHE AoHIZA 7T T7F 27

Blood red
A)

Blue
B)

T

Persian blue
C)

[
TEAT HTeA
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Brick red

D)

Which is not an example of alcohol?

96)

Glycerine

Ethanal

A)

AT

Ethanol
o)
T
Butanol
D)

-

C

]
=

Milk sugar is known as

97)§Hmé

A) Glucose W
B) Glucose W

— = - _ - [
9§ H FIFAAT AoHZA HT 2200 d21 272
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© Maltose ATecI
D) Fructosegﬁaﬁ

98)

Which reducing agent is used in Clemmenson’s reduction?

= _ = _ [ = 2
AR AT=999 H T ATAHT FLF HAAT 2

Zn-Hg and conc.HCl

A)
ST STHORTH &7 TR ZIeg (Al S+
Red P and HI
B)
o =, = — i
AT IERTTT 9 FTegl AT H A+
Sodium Ethoxide
C)

i - =
HITEAH TATFHT=S

LiAIH,

D)

99)

Which of the following test is not used to identify primary, secondary and tertiary
amines?
7 § 71 T st 7 vrateE, FA

< o > oS oS
s BT & Faas ataw it 7= 74 2 2 ?
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Isocynide test
A

- s =
ATEATATZATE S 7752

Hinsberg test
B)

(- [

BRI

Carbon di sulphide test

C)

FTeT BT AHISE 22

Tollen’s test

D)
T 2
In the following, the chemical formula of urea is
9 | H AT T G fA4T1 27
100)
A NH4CNO

B) (NH4)2804

S NHa

D) NH2CONH:
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Answer Keys
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